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Practice B 
for use with pages 148-153 

Solve the equation. 

1. 16x - 15 - 9x = 13 |H]_1 
4 . - 3 1 = 8 -'6p - 7i?[Tl 

- 9 - 8& = l l l 3 

7. 10a + 5 ( a - 3 ) = 1 5 [ ^ 

10. | ( i + 9 ) = - i 2 53l^ 1 1 . | ( « + 3 ) = 9 \ 5 i : 

13. 6.4 + 2.1(z - 2) = 8.5 14. 4.5 - 1.5(6m + 2 ) _ ^ 

2. 15m + 4 - 9m = 3 . 3b 

5. 9 + 4 ( x + l ) = 25 jTl 6. 7 ( J - 5 ) + 12 = 5 0 ] 

8. 1 9 a - 3 ( a - 6 ) = 66|2i , 9- ^(x - 8) = 7 iSgj 

12. -| (w - 1) = 15 

15. 15 = 4.3n - 2.1(« - 4) 

or" 
"L ' C\\a\rV p p - y . - ---̂  --^ 

41 

0 
I 

4^ 
1 

2 
O 

- 2-

'A 
0 

-1 

• 1 
.._ 

i i 
.._ 

1 

i 

( i ; 

1 i 1 

^ . ] . _ _ . . L 
i / i : ' 

\ . : ... * . : ... 

i 

: i 
i i 

i 

-Z5 

-|— • • -
— 'ill. 

\i •! \ -Z5 /—^— 
— 'ill. 

\



1 ^ 

5b V '9( - )\ 

___±/H 

+ - 3 + / 8 

9\^^5ta?-tV^U 

CD 



41 + 1 

1 ? ^ \  -

IS" 

I S -
+ - 8 . M 

3 = 


